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May 07, 2021

L.O T can answer arithmetic questions accurately and at speed.

How many minutes in 3 hours?

Year 3
235 + 456 =
456 - 299 =
34x5=

8x8:=

_ +56:=456
765-_ =431
_ x12=60
40x____ =200
30 x 100 =
321+ ___ =567
__ x7=35

2 x 100 =

Year 4

How many seconds in 5 minutes?
2325 + 4756 =
4516 - 2699 =

364 x5+=

8 x12:=
____+Dbl6=1456
7635 -__ =4131
_ x12=48
40x _____=2000
30 x 300 =

3211 -___ =1567

_ x9=45

7 x 1000 =
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ANSWERS
Year 3

3 hours = 180 minutes
235 + 456 =691
456 - 299 = 157
34 x5=170

8 x8=64
400 + 56 = 456
765 - 334 = 431
5x12=60

40 x5 =200

30 x 100 = 3000
321 + 246 = 567

5x7=35
2 x 100 = 200
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Year 4

5 minutes = 300 seconds
2325 + 4756 = 7081
4516 - 2699 =1817
364 x 5 =1820

8 x12=96

940 + 516 = 1456
7635 - 3501 = 4131
4 x12 =48

40 x 50 = 2000

30 x 300 = 9000
3211 - 1644 = 1567
5x9:=45

7 x 1000 = 7000
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